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 “Graph the following on a one Penodrinterval “Find thehmhtude/vert:cai stretch, period phase s
shift, and vertical shift. dentify any asymptotes in the graph.
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7) Write a sine and cosine equatian for the glven graph 80x the pertodyou used to write your

equation. The x-intervals are =. L .
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8.) State the domain andange for each inverse trigonometric function.

Function Domain Range
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Use the properties of inverse trigonometric functions to evaluate the expression.
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Write an algebraic expression that is equivalent to the given expression. ' _ ' i
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